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Question Number : 1 Question Id : 819657445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which combination of keys is used to make text BOLD in MS Word?

Options:

1 % Ctrl+Y
> o Cirl+B
s 8 Cl+U
4 ® Ctl+Z

Question Number : 1 Question Id : 819657445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Word & g&Fee &I BOLD a9 & T &F q;wﬂ IS &7 gOreT Bhar ST 22

Options:

L% Crl + Y

, v Ctrl + B
2% Ctl + U

4% Ctl + Z

Question Number : 2 Question Id : 819657446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which command in MS Word 2016 helps in identifying that changes are made in a text document?
Options:

, = Accept changes

-  Irack changes
= % Mark as Final

4 % Review

Question Number : 2 Question Id : 819657446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
MS WORD 2016 & i ®1 ®H3 dare graes (S#gHe) A v av ofmsal 1 sg9= # § #e
FLT 57




Options:

. » TREaA @ TR H (Accept changes)
, » &% UREad (Track changes)

o qor 7 # Rffaa F (Mark as Final)

L % TEHTET F{ (Review)

Question Number : 3 Question Id : 819657447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which shorteut key is used to make word UNDERLINED in MS Word 20167

Options:

1 % Cl+C
> o Cll+U
3 % Cirl+B
4 ® Ctrl+V

Question Number : 3 Question Id : 819657447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WORD g&a= (SiegHe) # e wiceme F=0 & 3901 96g 918 & Tiee & {Eihe (Underlined) &3t &
o faham =TT B

Options:

, % Ctl + C

, ¢ Cirl + U
2 % Ctrl + B

L% Crl + V

Question Number : 4 Question Id : 819657448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What can be seen on the screen that comes up when the computer comes to a rest after being booted?
Options:

1 #® TV screen



- % Blank
o  Desktop

4 % Icons

Question Number : 4 Question Id : 819657448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 819657449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows 10, a new printer can be added by Devices and Printers options in

Options:
1 « Control Panel

-~ u File Manager
- % Dynamic Data Exchange

EE Start

Question Number : 5 Question Id : 819657449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Windows 10 #, Fg1 ¥ farew st fier Rt &1 390 =0 go ow = fex w7 e B2
Options:
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Question Number : 6 Question Id : 819657450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In MS Word 2016, which of the following features displays information to use keyboard shortcuts?
Options:

,  Tooltip

- % Context menu
= % Filetab

4 % Status bar

Question Number : 6 Question Id : 819657450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS WORD 2016 &, B=afafam & & #i= &1 oy F=ies oidse &1 599 &= & v sl
e w87

Options:

Question Number : 7 Question Id : 819657451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS PowerPoint, slide sorter command is found under which menu?

Options:
1 = File

> % Tools

3 View



4 = Edit

Question Number : 7 Question Id : 819657451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
MS PowerPoint #, ToTES TicX FAS fohd Hel & HeId I AT AT 272

Options:
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Question Number : 8 Question Id : 819657452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Full form of URL is:

Options:

1 % Uneven Resource Locator

> « Uniform Resource Locator
- % Uniform Resource Loader

4 % Unique Resource Loader

Question Number : 8 Question Id : 819657452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

URL &T 90T & &1 87
Options:

, = Uneven Resource Locator (3=Tgdel fEg %)

i Uniform Resource Locator (Eﬁﬁ AT SeRe)
. » Uniform  Resource Loader (Ffewe fEe @)

, » Unique Resource Loader (Ts RaEw @s1)



Question Number : 9 Question Id : 819657453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ALU stands for:
Options:

|« Arithmetic Logic Unit

» % Array Logic Unit

- % Application Logic Unit

4 % None of the given options

Question Number : 9 Question Id : 819657453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ALU T 90T &9 37 g7

Options:

| Arithmetic Logic Unit (3rAfeF difee gfae)

Array Logic Unit (X @ifeier Ifae))

o R

. « Application Logic Unit (Yerehee diters i)

.« &8 T Reedt # @ @5 F@

Question Number : 10 Question Id : 819657454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
World’s first electron digital computer is:

Options:
; ® EDSAC
> % EDVAC

3 ® UNIVAC

4 « ENIAC

Question Number : 10 Question Id : 819657454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



faeT & wgem somea RfSew Fvgex B
Options:

. = EDSAC
. % EDVAC
- % UNIVAC

. v ENIAC

Question Number : 11 Question Id : 819657455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The computer abbreviation KB usually means

Options:
, » KeyBlock

> % Kernel Boot

s  Kilobyte

4 % Kilo Band

Question Number : 11 Question Id : 819657455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
FTYE FAIUT KB & HTHAR 9T FAT Y gIar g2
Options:
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Question Number : 12 Question Id : 819657456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Video conferencing is:

Options:



1 Conducting video calls using telecom technology

- u Conducting telephone calls
- » Conducting video conference using a set of telescopic technology

4 % Alow-speed and high-price activity

Question Number : 12 Question Id : 819657456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 13 Question Id : 819657457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Word 2016, what menu is selected to Save or Save As?

Options:
1 # Tools

> « File
= % Format

4 B Edit

Question Number : 13 Question Id : 819657457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
MS Word 2016 #, save (89) 3¥aT save as (89 U=) & fow fFg & &1 9w fhar e 82

Options:
1 & Tools




> « File
= # Format

., « Edit

Question Number : 14 Question Id : 819657458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What happens if you select the first and second slide and then click on MNew Slide button of Slides Group in home tab?

Options:
, = Amnew slide is inserted as first slide in the presentation.

> % Amnew slide is inserted as second slide in the presentation.
5 o Anew slide is inserted as third slide in the presentation.

4 # A new slide is not inserted.

Question Number : 14 Question Id : 819657458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T 39 9B 3 3@ TEE & g 3l T @W & & EE 99 F New Slide e W e w1 &
FT AITY

Options:
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Question Number : 15 Question Id : 819657459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When data moves from one set of major connections to another on the internet, we call these connections the internet

Options:
, » Pathway



- « Backbone

- » Communication system

4 % Routers

Question Number : 15 Question Id : 819657459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=% ¥ TeTie T THE Felwdel & TF He ¥ EE{ §€ H S £ of 57 FeaAl o Seee
wad 8l

Options:
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Question Number : 16 Question Id : 819657460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the correct way to refer the cell A10 on Sheet3 from Sheetl?

Options:
1 % Sheetl!Al0

> % Sheet3.Al0Q
5 « Sheet3!A10

4 % AlOQ

Question Number : 16 Question Id : 819657460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ot 1 & ofie 3 F A10 BT FF HSTHT T HT TeT TUFT T 87
Options:

. % Sheet1!A10

., % Sheet3.A10



-« Sheet31A10

4 ® A0

Question Number : 17 Question Id : 819657461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A general-purpose single-user microcomputer designed to be operated by one person at a time is:
Options:

, % Special Purpose Computer

- % Shared Computer

5 # Single Computer

4 v Personal Computer

Question Number : 17 Question Id : 819657461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 18 Question Id : 819657462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are bits in one byte.
Options:

1 ® 4



Question Number : 18 Question Id : 819657462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T §=¢ (byte) & fem (bits) @ &1

Options:

1 ® 4
>« 8
ST ] -15

g4 32

Question Number : 19 Question Id : 819657463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which symbol is used in Excel to enter number as text?

Options:

s

o
®
B

Question Number : 19 Question Id : 819657463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Excel # T&T & TFEC & 9 H & &l & v g BEa & 399 & Jar 82

Options:
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4 % oF

Question Number : 20 Question Id : 819657464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a popular chat service?



Options:
1 # Internet release chat

o  Internet relay chat

= % Internet resource chat

4, » Internet request chat

Question Number : 20 Question Id : 819657464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 819657465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Passive and Active matrix are basic types of:

Options:
, w Flat panel mouse

> # Printers
- % Vvoice recognition system

4 Flat panel monitors

Question Number : 21 Question Id : 819657465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 22 Question Id : 819657466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The shortcut key used for copying selected text or object 1s:

Options:

1 ® Cul+X
> % Cirl+V
3 o Clirl+C
4% Chl+D

Question Number : 22 Question Id : 819657466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TS THFEE I JHieaae HN FIAT HIA & [T 3TAT HT AT ATl AMHE Foil it TN 87

Options:

L % Ctl + X

, % Ctrl + V
2« Ctrl + C

L% Ctl + D

Question Number : 23 Question Id : 819657467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To change the case of letters, press the keys:

Options:
, « Shift +F3

> % Cil+C



o 8 Chi+X

4 R Alt+D

Question Number : 23 Question Id : 819657467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ded & FH FI g & [T, Fell EET|

Options:

.« SHIFT + F3
o % Ctrl+ C
- = Ctrl + X

L% At +D

Question Number : 24 Question Id : 819657468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
[T piece of hardware that convetts vour computer’s digital signal to an analog signal that travel over telephons lines is callad:

Options:
1 % Wire

> % Blue cord
- % Cable

4 « Modem

Question Number : 24 Question Id : 819657468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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ETErreT FTEAT $T T AT £ IW I ST ST Y

Options:
IR

& FS

o W

S_QW



4 v HIEH

Question Number : 25 Question Id : 819657469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

File extensions are used in order to:
Options:

1 # Name the file

> # Ensure the filename is not lost

- » ldentify the file

4 « ldentify the file type

Question Number : 25 Question Id : 819657469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 26 Question Id : 819657470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What happens when you boot up a PC?

Options:
» Portion of the operating system are copied from disk into memory.

1
- u Portion of the operating system are copied from memory onto disk.

5 » Portion of the operating system are compiled.

4, % Portion of the operating system are interpreted.



Question Number : 26 Question Id : 819657470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9 39 FHr T8Ae FOYET F g I ¢ Al FAT gar 82

Options:
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Question Number : 27 Question Id : 819657471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A register used to store values of arithmetic operations and logical operations is called a/an

Options:
1 % operator

> o accumulator

- u logical operator

, % arithmetic operator

Question Number : 27 Question Id : 819657471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 28 Question Id : 819657472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Teleconferencing involves:
Options:

, % Unicasting

-  Multicasting

- » DBroadcasting

4 # Typecasting

Question Number : 28 Question Id : 819657472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
oleIth o & e BT B

Options:

Question Number : 29 Question Id : 819657473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which shortcut key combination is used to print a document?
Options:

1 ® Ctrl+Esc

> R Alt+P
2 o Cirl+P
4 % Shifi+P

Question Number : 29 Question Id : 819657473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fodlr graras # giea (Be) w1 & v Fw aiewe F=ir gae= @1 33T a7 smar g2

Options:




1 # Citrl + Esc
- = At +P
2o Clrl + P

. % Shift + P

Question Number : 30 Question Id : 819657474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a security feature that is used to monitor who can gain access to our network.
Options:

, % Network terminal point

-  Network access point

5 % Network security point

4 % Netmoniforing

Question Number : 30 Question Id : 819657474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 31 Question Id : 819657475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which test is used to measure a network’s current performance level?
Options:

; % Monitoring test



- » Connectivity test

3 « Performance test

4 % Parametric test

Question Number : 31 Question Id : 819657475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 32 Question Id : 819657476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In LINUX boot process, BIOS executes process.

Options:
1 % Kemel

> % POST
- % GRUB

4 v MBR

Question Number : 32 Question Id : 819657476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LINUX & gz wfssar BIOS Sfeear 1 fasarfed e gl

Options:
1 # Kernel

., » POST



. « GRUB

. v MBR

Question Number : 33 Question Id : 819657477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file format is used to save Dynamic Adaptive Streaming over HTTP video file?

Options:

, % dyash

> # dasht
% « dash

4 % dstrh

Question Number : 33 Question Id : 819657477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
EATTRS MEeT FEET et HTTP Rfint oew 3 39 =0 & B By ome v &7 9o
e s B2

Options:

, = dyash
> % dasht
z « dash

4 % dstrh

Question Number : 34 Question Id : 819657478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Page orientation option is available in which tab of Word 20167

Options:
| % Page Lavout
5  Layout

= % Format

4 % Insert



Question Number : 34 Question Id : 819657478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

977 Ry feeT Word 2016 & 5T &5 & 3oy &7
Options:

| % 9 SIHES
> v WHBT
5 & BIHT
4% FEE

Question Number : 35 Question Id : 819657479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which tab of Open Office Writer. Euro Converter option is available?

Options:
1 ® Convert

> % Tools
3 ® View

4 & File

Question Number : 35 Question Id : 819657479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 36 Question Id : 819657480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Gas plasma display is categorised under which type of monitor?
Options:

, = Liquid crystal display

-  Flat panel monitor
= % Resistive screen

4 % CRT

Question Number : 36 Question Id : 819657480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 37 Question Id : 819657481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which option is used to apply external borders and remove internal borders from the table?

Options:
1 ® Custom

> R All
= % None

4 + Box

Question Number : 37 Question Id : 819657481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:



1 # Custom
- » All
= % None

4 « Box

Question Number : 38 Question Id : 819657482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

CD is made out of which material?
Options:

, « Polycarbonate plastic

> % Plastic

- » Carbonate plastic

4 R Polyfibre plastic

Question Number : 38 Question Id : 819657482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

CD f&g Jard & &= 2 &7
Options:

| v TTeNFEEAT caes
g_wam
- % TIEAC TollTEcH

4 % TTBIEY TeliEcsH

Question Number : 39 Question Id : 819657483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the storage capacity of CD-R?

Options:
1 « 700 MB

> % 500 MB



Question Number : 39 Question Id : 819657483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

CD-R T HIg0T &7HAT ohaeair gdr 272

Options:

. » 700 #TeTEew (MB)
, « 500 FeMaTEEH (MB)
. » 550 BTeTEEw (MB)
, » 900 BeTeTEEd (MB)

Question Number : 40 Question Id : 819657484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which device is used to read a punched card?

Options:
, % MICR

-~ % Optical card reader

5 « Card reader

4 w Lightpen

Question Number : 40 Question Id : 819657484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9= T 9T F1E F usA & v Gw RaEw (39won) F 93T G Jmar #2

Options:

., % MICR
. w HAlceehol &5 T

4 F1s f=T



. w BT 9

Question Number : 41 Question Id : 819657485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WAN stands for:

Options:

1 « Wide Area Network

> % Wireless Area Network
= % Wide Area Net

4 % Wired Area Network

Question Number : 41 Question Id : 819657485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
a7 (WAN) & 90T &9 T 872
Options:

. » 88 TRAT FTTF (Wide Area Network)
, » T TRAT AeTe (Wireless Area Network)
= % A5 oRar A€ (Wide Area Net)

, « TS TRAT Acae (Wired Area Network)

Question Number : 42 Question Id : 819657486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In order to protect computer systems from viruses, we use software.

Options:
1 « antivirus
> % ant worm

- % antigaurd

4 % worm



Question Number : 42 Question Id : 819657486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fogex Ted # TR ¥ 59 F A TFEaTT &7 3T4T 3 &1

Options:

| v TeETaH

o ® ﬁFd'EDEI'
o ® ﬁﬁ-g-ﬂé-

4% FH

Question Number : 43 Question Id : 819657487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The * * is a speech input device.
Options:

, « Microphone

5 % LCD

5 % Digital camera

4 % Speaker

Question Number : 43 Question Id : 819657487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
'’ U HANUT 399 f3amsH g

Options:

1,4 TS ShIthIet

» Tofeas fhreer Br=er (LCD)

24

A 1
5 » TEfaee Hadl

4.%31:%

Question Number : 44 Question Id : 819657488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



file type consists of 16 million colours.

Options:
y « JPEG

5 ® AVG
= % MP3

4 % MP4

Question Number : 44 Question Id : 819657488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
YR @ B § 16 BT o @ £

Options:

. v JPEG
. » AVG
2« MP3

. % MP4

Question Number : 45 Question Id : 819657489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

was created for organising machines into domains and map host name onto IP address.
Options:
, » Domain Addressing System

>  Domain Naming System

- » Host Naming System

4 #» Domain Mapping System

Question Number : 45 Question Id : 819657489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT =7 38T # =ustiys 4 AT g A9 (@F) #7199 9 39 &= A =1 TeratoT
foror o amy

Options:



|« A o3fEE s
> v S ATHT BreA
. » BIEe AfFe fawes

Question Number : 46 Question Id : 819657490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
is a folder on your computer that synchronises your files online and across computers.

Options:
, « Drop box

> % Check box

3 # List box

4 % Combo box

Question Number : 46 Question Id : 819657490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HITF FET W T4 UF FHiest § 37 HITR WAl 7 HAAEA H#T 39 FE W aAREE
ECICIN-S
Options:

. Drop box (79 &7eq)
, % Check box (II% 1q)

. « List box (forFe s7em)

, » Combo box (FTFar FTe)

Question Number : 47 Question Id : 819657491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
enables mobile payment.

Options:



; ® NATSTAT
> % BHEEM
= v BHIM

4 % NAT

Question Number : 47 Question Id : 819657491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
AIETES $TAT HATH 1T 2l

Options:

. % NATSTAT
., » BHEEM
- » BHIM

4 % NAT

Question Number : 48 Question Id : 819657492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In column chart, are structured along the horizontal axis and along the vertical axis in MS Excel.

Options:
1 % scale and series

> of categories and values
= # series and names

4 % Names and depth

Question Number : 48 Question Id : 819657492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS Excel & siotH =& & g 3787 9T 3l FeERR Ha W Wfag Fe 9 g

Options:

z_fEFﬁ'ﬁTFIH



= W M}ﬁ?ﬂm

, « T 3T TR

Question Number : 49 Question Id : 819657493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Alan chart is ideal for displaving trends in data at equal intervals in MS Excel.
Options:

1 « Line

- % Surface
= % Afrea

4 % Pie

Question Number : 49 Question Id : 819657493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel H, AT 3aa 9T 227 #F THH 90T & & T e FIGFT e gl
Options:

| v T (F15)

, » T8 (TIHH)
- % &YIHel

L

Question Number : 50 Question Id : 819657494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The helps the reader to locate data on a chart in MS Excel.

Options:
1 % Vertical line

> « Grid line

= % Horizontal line



4 # Drop line

Question Number : 50 Question Id : 819657494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel &, I 9T 22T i TUAI/@SAT H IISF $7 Feradr &iar gl
Options:

1. ® mm

. v B
T ® %?m

4w 319 EEA

Question Number : 51 Question Id : 819657495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term is used to describe the termination of a computer process or command.

Options:
1 % Resume

-~ % Restart
= « Abort

4 ® Start

Question Number : 51 Question Id : 819657495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g F T R FgER W I FAS H gAeT F oA & e B S g

Options:
; # Resume

- % Restart
2 & Abort

4 % Start



Question Number : 52 Question Id : 819657496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A i a bot designed to parse through larpe amounts of data, such as web pages on the Internet, fo extract
specific information,
Options:
1 #% virus

> « harvester
= % anfivirus

4 » firewall

Question Number : 52 Question Id : 819657496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T § B i & ol J, 3 wetee WA gS A ffire sl T & B
Eaee Tar i

Options:

1.aREI'I'-EIT~.‘=|'

2 3é131

5 % USHETIRH
4 % IO
READING COMPFREEHEMNSIOM

Section Id : 81965791
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 81965791
Question Shuffling Allowed : Yes

Question Id : 819657497 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (53 to 57)
Juestion Label - Comprehension



Read the following passage and answer the
questions that follow:

One stormy night., an old couple driving through
Philadelphia decided to stay in a hotel for the night.

They walked into a small hotel and asked the front
desk clerk for a room.

The clerk, a friendly man, explained that all the hotels
in the city were full because three conventions were
going on.

He looked at the old couple again and said, *“Sir. the
weather is bad. Would you mind sleeping in my
room? It may not be grand. but it will be comfortable
all right.” Edit as follows: all right The old couple
looked at each other. They thought they would be
depriving the clerk of his room if they agreed. So they
declined.

The clerk sensed their concern. He again urged them
to accept his offer and assured them that he would
find a place for himself.

The old couple agreed.

Next morning after paying the bill, the old man said to
the clerk, “People like you should be the boss of the
best hotel in America. Maybe, someday I'll build one
for you.”

The clerk smiled.

On their way, the couple agreed that the clerk was
indeed exceptional.

Two years passed. One day. the clerk received a letter
from the old man. He reminded him about the stormy
night incident and invited him to New York. He had
enclosed a round trip ticket too for him.

The old man received him in New York and took him
to the corner of 34 street. He pointed at a magnificent
building standing tall in pale reddish stone and
mpressive watchtowers almost touching the sky.

“That,” said the old man. “is the hotel I have built for
you to manage.”

“You must be joking_ ™ said the young man.
‘I can assure you I am not” said the old man smilingly.

This old man was none other than William Waldorf
Aster and the Hotel was called Waldorf Astoria Hotel.

The young clerk who became its first manager was
George C Boldt. Boldt could not have foreseen events
would change his life



Sub questions

Question Number : 53 Question Id : 819657498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The couple decided to stay at a hotel because...
Options:

, w Itwas past midnight

> « the weather was bad

- » they wanted to take rest

4 » Visibility was very poor

Question Number : 54 Question Id : 819657499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The clerk offered them his room to stay for the night
because...
Options:

, % hewas very friendly

- % the couple were insisting
- » the couple looked tired

4  all hotels were fully booked

Question Number : 55 Question Id : 819657500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The old couple declined the clerk’s offer because
they ...

Options:
, % Wwere proud
> % needed comfort

= « Were considerate

4 % Wwerevery old



Question Number : 56 Question Id : 819657501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The old couple had made up their mind to...
Options:

, w construct the most elegant hotel in America

- % invite the clerk to show him around New York
5 » give the clerk a paid for holiday in New York

.» build an exclusive hotel for the clerk to manage

Question Number : 57 Question Id : 819657502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Which of the following quote most appropriately sums up
the moral of the story?

Options:

, % One kind word can change someone’s day.

» % [Ihe bestattitude is gratitude.

5 « No act of kindness ever goes waste.

4 % Werise by lifting others.

Question Id : 819657497 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 819657498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gFqfed & Bl H 1@ T thgelmr [T Fife:
Options:

i yﬁﬁméﬁ??{cﬁrzﬁ

. AEE U o

. » & AH T 98T o

. TRUCAT 9§ FA off
4, ®

Question Number : 54 Question Id : 819657499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Foloh o 3vg Ud 5T W@ & T 303 &3 #r
T9reRel T FiTR:

Options:
, € g SIEQTAT T
e

1

. % GHlcd IR W@ &

28 mw?w@a

4._M'\E|'S$I'5|=:c»i T RE IF &

Question Number : 55 Question Id : 819657500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T EFled & FoIeh I YR FN HEFR T
fear Fifen:

Options:

. TS Y

o % 38 ARH HI HTaeTehal o
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Question Number : 56 Question Id : 819657501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

gsf‘r gFTed o 9T HF g7 orr or &
Options:

| ARG # TR T ged 1 R 58

=gl % FOIH gA & fow

a-q“qﬁa T T & o AT afed

L« I FEIA FHL

Foleh calT 99 & o U ey
4 v BT FT FE0T HE

Question Number : 57 Question Id : 819657502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT asswragsg sRa T @
FEIAT I ATqehdl I S4TdT 87

Options:
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QUANTITATIVE AFTITUDE

Section Id : 81965792

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 81965792
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 819657503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The ratio of the ages of Tina and Rakesh i3 @ ; 10. Ten vears ago, the ratio of their ages was 4 ; 3. What is the present
age of Rakesh?

Options:
| % 25 years

20 years
30 years

24 years

Question Number : 58 Question Id : 819657503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
&= 3T IR Y AT T HFIS 9 ¢ 10 §I IH AW @, I Y F NS 4 : 5 oA THA HY
TOAT AT FAT 87

Options:

, % 25 9§
> v 20 a§
5 % 30 T

4 % 24 T

Question Number : 59 Question Id : 819657504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Three Mends, 1, K and L, jog around a circular stadiom and complete one round m 12, 18 and 20 secomds respectively. In
how many minutes will all the three meet again at the starting point?

Options:
1 ® 5

Question Number : 59 Question Id : 819657504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

= 77 J, K 3T L oF SR #TF # g9 @ £ A w12, 18 3T 20 ¥ A v g
o F # e fiee 9 3 A s g w e & e

Options:

12.35

Question Number : 60 Question Id : 819657505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following number series only one is wrong. Find out the wrong number.

33 321 465 537 573 590 600
Options:
;% 321

5 % 465

Question Number : 60 Question Id : 819657505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



fealoTaa T&Tr 4@er § I U TCIT 70T gl TToid §EAT H Ig= |
33 321 465 537 573 590 600

Options:

| % 321
. = 465
5 = 573

4 v 590

Question Number : 61 Question Id : 819657506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What should come in place of the question mark (?) in the following question?

6561+ (10.8 x 2.5) +3=7
Options:

1 ® 27

o R 54

4. 81

Question Number : 61 Question Id : 819657506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Traef@T weT & geaf=ea (?) & T W FT g7 Ifge?

6561 = {108 x 256) =3 =7
Options:

4 ¢ 81



Question Number : 62 Question Id : 819657507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider the following information:

A 2 B 2

B 5 & 3
If A equals 800, find the value of C.

Options:
. % 1000
5 % 1200

5 « 1500

4 % 2000

Question Number : 62 Question Id : 819657507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T I 9T AR &1

A_4 B 2

B 5 £ 3

afe A T AT 800 &), aF C &1 AT AT FI?
Options:

, % 1000

> % 1200

= « 1500

4 % 2000

Question Number : 63 Question Id : 819657508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A person borrowed some monay every vear at 10% compound interest, If he pavs T 25,487 at the end of 3 years, how much
money had he borowed every yem?

Options:

| v T7.000

> » T 7,200



5 T7,500

4 % < 8.000

Question Number : 63 Question Id : 819657508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

vF TEFF TeiE q9 10% THEE T W FT U IUT S g 37 I6 A 39 % 39 7 2 25,487

F T AT A 37 e 9 e ofr sum s 9

Options:
. » ¥ 7,000
> % T 7,200
. % T 7,500
, = < 8,000
GEMNERAL MENTAL AEBILITY AND REASONING
Section Id : 81965793
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 81965793
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 819657509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Four words are given. Which of them will come second if all of them are arranged alphabetically as in a dictionary?
Options:

1w Spine

> % Spinal



5 ® Spinner

4 ® Spinet

Question Number : 64 Question Id : 819657509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR 9 G T §| T Wl aEE F vF weEsn F A avigeH # eaaredd Shar s &, A gat
T ST Wi B/ e HTLET?

Options:

|« Spine

> % Spinal

- % Spinner

4 % Spinet

Question Number : 65 Question Id : 819657510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Int the given series, which letier is fourth (o the dght of the letter immediately to the left of the letter mmmediately 1o the left

of the letter that is third ta the night of the letter immediately to the left of the letter 1.7

ELMNOPQR
Options:
1 ® O

Question Number : 65 Question Id : 819657510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
B & T AEeT # MW L F ardi MY Rrmwer aer M & grdi M S S wew § 3 9T
AT A 3T % OO A AT & AW o gl AT St e #He m g

KLMNOPQGQR
Options:



Question Number : 66 Question Id : 819657511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Letters of & word have been jumbled up and mumbered. Choose the option which gives the comect order of the letters as
indicated by the numbers to fomm the word.

oA RETE
123 45%

Options:
, % 2.3.1,6.4.5

Question Number : 66 Question Id : 819657511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UF 9EE ¥ el I yegarryd e mmam ¥ ol w Rw wm & % ) 3w Reew 7 o9 A e
#1 T S SR ATl gENT ST MerRl T WE FH TEE 1A 7

VARSTE

1T 23456
Options:

1 = 2.' 3! 116:4:5
> % 3 2,4, 5 6, 1

w45, %316

4% 63,45 2,1

Question Number : 67 Question Id : 819657512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Select the right option to complete the following from given options:
I : Distance :: Kilogram : II

T, (1) Far (2) Meter (3) Europe (4) Travel
IE: (A) Heavy (B) Ounce (C) Weight (D) Noise

Options:
1 % land A

> ® 2and A
z % 2and B

4« 2and C

Question Number : 67 Question Id : 819657512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Select the alternative with the most appropriate description about the following three words.

Myosin : Collagen : Actin
Options:
. « These are proteins.



- % [Ihese are names of enzymes.

= #% These are constituents of blood.

4 % These are names of hormones.
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Select the alternative with the most appropriate description about the following three words.

Naive : Ingenue : Guileless
Options:
, w Theterms are connected with bad society manners.

- #% The terms are used for criminals.

- % [Ihey are technical words used by social workers in backward areas.

4 They depict various shades of innocence.
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Gum Kelucharam Mohapatra is a maestro of which of the following dance forms?

Options:
1 « Kathak

- » Kuchipudi
5 % Odissi

4 % Kathakali
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The impact of Green Revolution was felt most in the production of:

Options:
1 « Wheat

> % Rice
=z % Pulses

4 ® Oil Seeds

Question Number : 71 Question Id : 819657516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Ffa # geg 30+ 3T 8 v« 9T @1 T4r?

Options:

*

1.-;-**EPIE
o R EICEE)
SR ] W

4@?'?"3?

Question Number : 72 Question Id : 819657517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following organisations in NOT associated with the financial banking sector in India?



Options:
; ® NABARD

> % BSE
2 « ISRO

4 % ECGC
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The McMohan Line lies between which of the following countries?

Options:
1 % India and Pakistan

-~ % India and Bangladesh

3 « India and China

4 % India and Myanmar
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Clotting of blood involves:
Options:

, w Drying due to evaporation of plasma

-~ % Denaturation of albumins by thrombin
5 » Haemolysis of RBC

4  Change of fibrinogen to fibrin by thrombin
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Sati was declared illegal and punishable by Regulation XVII during the Governor Generalship of:
Options:

1 « Lord William Bentinck

-~ % Lord Canning



5 » Lord Ripon

4 % Lord Dalhousie
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Wornens History Mornth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITENS Nistory 15 valuable all twelve months of the vear. Wornen have overcome daunting odds to succead
and excel in all areas of haman endeavor, including sciernce, manufacturing, athletics, business, and
exploration.
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The Indian judiciary can be divided into two main categories, higher judiciary and lower judiciary. Higher
Judiciary includes High Courts and Supreme Court the rest is lower judiciary. The process of appointment to
loweer Judiciary 15 carried out by the state public service cormurussions or through the high courts. The process
usually inwolves writherl exarunation which includes a prelininary objective test and then a mains subjective
test. Once you qualify it you are subject to the interview after which if cleared you become a judge in the lower
judiciary. There are another examinations that are conducted by the High Court for induction of Judges at the
level of Additional District Judges, this is called Higher Judicial Services while it is higher than the PCS5] in
rank, in overall scheme of things it is still lower judiciary. The process for HJS is also same but it requires an
experience as a Judge or a Lawyer of minimum of 7 years. These two posts are regularly promoted and
eventually some malke it to the high courts or supreme courts. The Higher Judiciary includes the High Courts
and the Supreme Courts. The appointrment to this judiciary is done through prometion from lower judiciary or
through direct elevation of practicing lawyers who has been an advocate for at least 10 years in high court. In
case of Supreme Court they are appointed through direct elevation and promotion from high courts if they
hawe been a judge for at least S years in High court. Judges of the Supreme Court and High Courts are
appointed by the President. The President is required to hold consultations with such judges of the Supreme
Court and of the High Courts as he may deermn necessary. Till 1981, the appointment of judges was made by
the government. The process in the constitution menticned that the appointments shall be rmade in
consultation with the chief justice. This opinion in this consultation was not binding on the government. In
rase of the appointment for the post of the chief justice, the post was usually given to one who was the senior
most judge in the Supreme Court. There was nothing in the constitution which mandated it but this was the
practice, But in 1977, Prime Minister Indira Gandhi, through president, superseded H. R, Khanna and
appointed M. H. Beg as chief justice. After which the collegiums system was introduced. The colleginm system
of appointrment was a process where the chief justice and the four senior most judges of the Suprerme Court
made recormmendations of names that shall be appointed to the High Courts or Supreme Courts. The process
of appointment of Judges was either through elected representatives or through Independent cormumission.
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